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. Divide 3498 in the ratio 2 : 20

(i) 318,3183 (ii) 318, 3177 (iii)) 319, 3180 (iv) 317, 3180 (v) 318, 3180

. Divide 10304 in the ratio 38 : 18

(i) 6993, 3312 (ii) 6992, 3312 (iii)) 6991, 3312 (iv) 6992, 3310 (v) 6992, 3315

. Divide 795 intheratio1:12:2

(i) 52,636,106 (i) 53,633,106 (iii) 53,638,106 (iv) 53,636,106 (v) 54,636, 106

. Divide 11346 in the ratio 34 : 31 : 28

(i) 4148 ,3782, 3416 (ii) 4147 ,3782, 3416 (iii)) 4149, 3782, 3416 (iv) 4148, 3780, 3416

(v) 4148 ,3785, 3416

. Divide 6150 intheratio3:17:1:20

(i) 449, 2550, 150, 3000 (ii) 451, 2550, 150, 3000 (iii)) 450, 2548, 150, 3000

(iv) 450, 2550, 150, 3000 (v) 450, 2552, 150, 3000

. Divide 25326 in the ratio 34 : 35: 31 : 26

. Divide 4235 in the ratio

(i) 6833,7035, 6231, 5226 (ii) 6834 ,7033, 6231, 5226 (iii) 6834 ,7035, 6231, 5226

(iv) 6834 ,7037,6231,5226 (v) 6835,7035, 6231, 5226
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(i) 275,3963 (ii) 274, 3960 (iii) 275,3960 (iv) 275, 3957 (v) 276, 3960
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. Divide 24360 in the ratio — : — : -
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(i) 2520, 16802, 5040 (ii) 2520, 16797, 5040 (iii) 2521, 16800, 5040 (iv) 2520, 16800, 5040

(v) 2519, 16800, 5040

. A certain amount has been divided into two parts in the ratio 6 : 9. If the first part is 120, find the total amount.

(i) 297 (ii) 302 (iii)) 301 (iv) 299 (v) 300
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